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asym_bcm_an_us (ppb) 1D pull distribution
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asym_bcm_an_ds (ppb) 1D pull distribution
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1D pull distribution
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asym_bcm_an_ds3 (ppb)
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asym_bcm_an_ds3 RMS (ppm)

v'oLvy
€9y
9Ly
T9Lvy
0'9Lvy
4°7A474
€alvy
[A7A44
T'SLvy
0'GLvY
v'vivy
evivy
[AZA474
TvLivy
ovivy
[A7A44
TEeLvy
[(R7A474
celvy
Telvy
[V 7A474
€TLvy
CTLvy
TTLvy
0'TLvYy
[AVA44
TOoLvy
0'0Lvy
V'69ry
€691y
2691y
169y
0’691y
7’89y
€891y
289y
T'89ry
0891y
L9y
[A°i474
T L9y
0'L9vy
0'0SvYy
Ty
0Ty
S'ovvy
vovvy
eovvy
oy
Tovvy
o'orvy
€'6Ery
¢'6EVY
T'6EVvYy
0'6EVY



asym_bcm_dg_us (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution

diff_bpmE (nm)
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diff_bpmE RMS (um)
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diff_bpm4aX RMS (um)
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diff_bpm4eX RMS (um)
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1D pull distribution
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diff_bpm4aY RMS (um)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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asym_usr RMS (ppm)
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1D pull distribution
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asym_atll RMS (ppm)
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1D pull distribution
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